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<form action=" [ 7 ] " method="POST">
<[ 1 ] name="wordl" type="text">
<[ A ] name="word2" type="text">
<[ A ] name="ok" type="submit" value="OK">
</form>
[[ nano.rb 1]
#!/usr/bin/env ruby
# -%- coding: [ 7 ] —*-
require ’ [ = ] °
x = CGI.new(:accept_charset => "UTF-8")
print "Content-type: text/html; charset=[ 7 ]\n\n"
wi=[ A1 # AJl wordl DEZEF2

w2 = [ 711 # AJIHE word2 DIE%E/ES
if wl == w2 then
msg = "long " + wi
else
msg = wl + " " + w2
fi

print "<!DOCTYPE html>

<html><head><title>Nano!</title></head>

<body><h1>Nano!</h1>

<p>#{msg}</p></body>
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def eq(a,b,c,d)

number_m = [ 7 ]

printf ("WEAEE D HMEAFE 1 %d A\n",nunber _m)
number_f = [ 1 ]

printf ("WEEE DO LZMEAFE 1 %d A\n" ,nunber_f)
return [number_m, number_f]
end

print"WEEE D AFE E

last_year = gets.chomp!.to_i

print"SEHE O BHEOBINERIE (1048742 S [10) . 20%H A 5
r-20]) "

rate_m = gets.chomp!.to_f

print" 5 AEE O LMD BN L

rate_f = gets.chomp!.to_f

print"SAEE D A FERIL

this_year = gets.chomp!.to_i
student = eq(last_year, rate_m, rate_f, this_year)

male = [ 7 ]

printf ("SHEEDHEAEHE %d A\n",male)
female = [ T ]

printf ("SHEEDOLMEAFHE 1 %d A\n",female)
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[[ result.txt 1]

BE#4  EEE  EEATE

THF 100 12
UFO % 90 50
N

credit = Hash.new
open("result.txt","r:utf-8") do |codel
while line = code.gets

if /[ 7 1/ =" line
credit[$1] = [ 1 ]
end
end
X 0

print" I fL AR BIHA\n"
for i in credit.keys.sort{la,bl
credit[b] [2] <=> credit[a] [2]}
if [ 71
printf("%2d fi %4.2f %s\n",
[ 1,LA1,LAD
x +=1
end
if x > 10
break
end
end
end
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